| worked Wit Elson

—_— —;LQ Truce : olosolure. 1S goge +,,mtmosgic£e._9_tc.&sum.-#f —

e = (SRRSO ————————————— t
e ceramie .,33_‘513&._\}0%4‘0\1\(1 be on A ylountain _or loelowd oo lcvcl =
' N
Q) Can ke True> 1§ thre certain tunk was o wcum —
i
Q) Can oo True: only need 0.45% pSL_fO mwe watex~ 1 £E <
- i veshcaly
JIO\ Con be True ? [F5kpo- > Very close to _normol atmolphede W
r Prossurt ~lol.525 kPou %
| .
| F=Y S
e :

lovogy X = [T -0 ooz 61s Taec i n 4 <
! \ 4000t )\/ (Y ¢
o il VA AL = i

:lwq Y )
L]
| ’ X=P9 < 0.0020FD Tn2Ft+ = )2@7; \, t

1

| |
T = - .
P O_T_(_;Wf_wn, > 7=(0.015 gs)(Hosr) = 300 i :
— —‘7 ———-\4( -O g—b ¥.‘.% ——_— e — S e g _.
———— ———————— ———— S SN K L
LAY % 0 St&ffm Q..y\d U.S\r\5 %QD)Q, ch_&swrQ., B _:
r B — T ST : s
— y—— — — - MR s %]
B —— == St T — e Ba  SERARRY I ST SR
| s il S 1 2 S W e R |
| LM i . : N
b VB [
= N
i ]
—




